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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the
blank. Then mark the correct choice on your answer sheet.

1-  In the central highlands of New Guinea the sudden -—-----m from the society of the
stone ax to the society of sailing ships (and now of airplanes) has not been easy to make.
1) manifestation 2) deterioration 3) transition 4) sophistication

2- I want your help with my literature review, —--—--e-- to the e-mail are some questions.
Please answer them.
1) Raised 2) Posed 3) Inquired 4) Attached

3-  There is no single or widely used definition of children's literature. It can be -
defined as anything that children read or more specifically defined as fiction, non-
fiction, poetry, or drama intended for and used by children and young people.

1) broadly 2) optimistically 3) controversially  4) neutrally

4-  When many of the spoken languages of the Native American Indians were ----------- as a
result of colonialism by English, French, Spanish or Portuguese, they became extinct.
1) distributed 2) replicated 3) illustrated 4) replaced

5-  During the winter storm, the road conditions were $0 ----------- that schools were
cancelled for a week.
1) reckless 2) deplorable 3) superficial 4) erratic

6- Laying a bouquet of flowers and the gift-wrapped doll upon the bed, the young mother
kissed the sleeping Soha and said this ---—-— --: ""A happy birthday, and God bless you,
my daughter!"
1) beneficence 2) malediction 3) benediction 4) valediction

7-  People who —---—-—--- their dreams do what they love and they go for greatness.
1) chase 2) involve 3) gather 4) require

8- Attention is essential in achieving anything. If you can’t pay attention, you can’t get the
job ~mmeemeeen .
1) taken 2) made 3) tried 4) done

9-  Everything man-made around you was --------- -- a thought in someone’s head.
1) socially 2) originally 3) quickly 4) desirably

10- The strength of the United Nations is dependent upon the -------—-- of its member
countries.
1) encounter 2) assumption 3) cooperation 4) urgency
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Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best
[fits each space. Then mark the correct choice on your answer sheelt.

| can put my cash card into an ATM anywhere in the world and take out a fistful of
local currency, while the corresponding amount (11) ==-=-eeeun- from my bank account
at home. I don't even think twice: (12) ==-=mvennu- the country, I trust that the system will
work.

The whole world runs on trust. We trust that people on the street won't rob us,
(13) —==mmmmeen the bank we deposited money in last month returns it this month. that
the justice system punishes the guilty (14) -=-e=vnnnx . We trust the food (15) ~==-emeenmv
won't poison us, and the people we let in to fix our boiler won't murder us.

11- 1) to debit 2) is debited 3) debits 4) debiting
12- 1) in spite of 2) in relation to 3) no matter 4) regardless of
13- 1) that 2) and 3) for 4) though
14- 1) and the innocent exonerated 2) and exonerates the innocent

3) in order for innocent to exonerate 4) which it exonerates the innocent
15- 1) is bought 2) which we buy it 3) we buy 4) to buy

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

In England. the concept of a centralized, professional police force was a tough sell
initially and was met with a tremendous amount of resistance. The public feared that a
police force would essentially behave as another arm of the military. As a result, there
was an understandable reluctance to agree to be controlled by what many assumed
would be an occupying force.

In order to overcome this opposition. Peel is known for laying the framework for
what a police force should be comprised of and how a good police officer should
conduct himself. While there is debate as to whether he ever clearly enumerated his
ideas in any sort of list format, it is generally agreed that he created what are to this
day considered to be the primary principles of policing.

Peel's efforts were very effective in assuaging public fears and concerns. In
addition to the principles of policing, Peel and his supporters took other measures to
ensure that there was a clear distinction between professional police officers and the
military. Police wore blue uniforms in contrast to the bright red of the Royal armed
forces. They were forbidden to carry guns, and at all times the importance of
maintaining the public trust was impressed upon members of the force.
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16

17-

18-

19-

20-

Which of the following best describes public reaction to the establishment of a

centralized, professional police force?

1) Alarm 2) Excitement

3) Mild disapproval 4) Uncertain but interested

According to the passage, what Peel did was

1) instrumental in making people trust what the police forcc, was intended to do

2) to act in a way to make people believe that they harbored their irrational fear of the
military

3) to carefully define the police force's line of duty so that the military could not
interfere with the act of policing

4) helpful in making police officers realize that they did not have to let people's
concerns affect their principle of professional work

The phrase "this opposition" in paragraph 2 means opposition {0 -—--eeeeaeee- A

1) the function of the military

2) the concept of a centralized. professional police force

3) Peel's laying the framework for what a police force should do

4) people's tremendous amount of resistance to any type of control

Which of the following statements is NOT true, according to the passage?

1) The uniform worn by police officers made it at first difficult for people to
distinguish them from the members of the military.

2) Peel and his supporters reinforced the principles of policing already laid out by
some influential people.

3) The concern that the police would occupy the streets made people not welcome the
whole concept.

4) Police officers were told to behave such that they would be able to be trusted by

people.
The word "assuaging" in paragraph 3 is closest in meaning o -——-----eueeeee,
1) triggering 2) displaying 3) diminishing 4) justifving
PASSAGE 2:

The notion of “third party policing™ has emerged as a way of understanding how
public police can steer these crime control networks, by mobilizing other parties and
making use of their resources. Third party policing occurs when police engage with
other organizations or individuals and use a range of civil, regulatory and
administrative laws to create or enhance crime control and prevention networks. The
focus shifts from sole police responsibility for preventing and responding to criminal
and anti-social behavior to networks using a wide range of legal options. but with the
police at the centre of the networks. rather than as simply another node. Such networks
can focus on risk identification, surveillance and prevention, rather than on traditional,
reactive police strategies, and make use of a wide range of non-traditional legal powers
and levers. Some of the legal measures used include property forfeiture, license
restrictions. evictions and injunctions.

The distinctive feature of this type of policing is that use is made of legal
mechanisms outside the criminal law. Police therefore gain access to new levers that in
most cases are less hindered by restrictions and protections developed around criminal
law processes. In addition, they gain crime control partners who are convinced or
coerced to take responsibility for local problems. In third party policing, the police
create or enhance crime control guardians in places and situations where guardianship
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was previously either ineffective or absent. Police work in partnership with other
institutions. agencies and individuals in an effort to prevent and more effectively deal
with crime problems. But unlike other types of police-community networks, third
party policing is characterized by top-down strategies that compel the police to harness
new, coercive powers from other network nodes, to help improve crime control.

21- What is the main purpose of the passage?
1) To describe an approach to policing
2) To compare and contrast two ways of doing police work
3) To chronicle the development of a new policing strategy
4) To support a new but controversial approach to policing
22-  Which of the following best describes the relationship of the second paragraph to the
first?
1) The second paragraph describes a new phenomenon that has the same cause as the
phenomenon described in the first paragraph.
2) The second paragraph provides an example of a case in which the claim made in the
first paragraph does not hold true.
3) The second paragraph modifies an observation made in the first paragraph by
detailing viewpoints against it.
4) The second paragraph provides additional information in support of the concept
stated in the first paragraph.
23- The network of resources used in third party policing is one in which the police node

1) does some monitoring work to see if the other nodes act in accord with law
2) is equal in rank and importance to the other nodes in the network
3) plays a less significant role compared to the other nodes
4) plays the most important role in the network
24- According to the passage, the new levers used in third party policing are in most cases
less hindered by restrictions because —-----eemeeeee,
1) the entities with which the police cooperate can easily bypass legal barriers
2) sometimes legal mechanisms outside the criminal law are deployed
3) local problems are identified and resolved on a local basis
4) focus is more on preventive rather than punitive measures
25-  Which of the following best describes the tone of the passage?
1) Admiring 2) Cautious 3) Analytical 4) Critical

PASSAGE 3:

There are four underlying assumptions of community policing. beginning with the
notion that increased visibility of police decreases the fear of crime in society.
According to this assumption. the community will feel more secure if there is more of
a police presence, since police presence can deter criminals from committing crime.
However, this assumption can be questioned because a police presence may force
criminals to move to the other areas.

The second assumption is that because society is composed of a homogenous
population, satisfaction, or dissatisfaction with the police can be measured. This
assumption is problematic, however. because social class characteristics, age and race
of the neighborhood result in variations in police service type. Further, since there is
not a single community. questions arise regarding how the police identify community
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and determine what the community needs. This may result in different perceptions
regarding police service and the effects of these services in different communities. For
instance, while foot patrol is successful in reducing the fear of crime and increasing
satisfaction among citizens, this may be an overgeneralization of the effects of foot
patrol activities, and these activities may have different effects depending on the
demographic characteristics of the communities involved.

The third assumption is that police should help community actively to define and
form their norms. This assumption has some very critical shortcomings, however. The
primary task of police is to act according to legal norms. Therefore if the police try to
enforce society’s informal social norms, it may cause injustice and corruption among
police officers.

26- What is the main subject of the passage?
1) Community policing
2) Assumptions underlying good policing
3) Problems with a specific sort of policing
4) Rapport between the police force and local communities
27-  Which of the following best describes the organization of the second paragraph?
1) A claim is made and then it is called into question.
2) A general statement is made and supported by specific examples.
3) A novel approach is introduced and then a procedure is outlined.
4) A controversial viewpoint is presented and then both supportive evidence and
contradictory evidence are cited.
28-  The author mentions foot patrol in the second paragraph in order to ———-eceeeeeeee,
1) give the example of a successful police activity
2) prove that a combination of police activities are required to ensure security in the
same neighborhood
3) demonstrate that the same action may actually be interpreted differently by people
in different communities
4) disprove the belief that social class characteristics, age and race of the neighborhood
result in variations in police officers' preference for their service type
29-  What does "it" in the third paragraph refer to?
1) The police force
2) The primary task of the police
3) Acting according to legal norms
4) Acting based on informal social norms
30- What would the paragraph immediately following this passage most probably discuss?
1) Advantages of social informal norms to legal norms
2) Another assumption of community policing
3) Ways to combat corruption in society
4) Other approaches to policing
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